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Q:1 a)  Discuss the method of Spearman’s rank correlation. Give its uses. 07
b} Find the correlation co efficient for the following data and give interpretation. 07
X Y>[ 3060 60-90 90-120 120-150 150-180 T
0-20 S 3 5 5 7
20-40 e - g 4 1
40-60 b3 5 10 3 -
60-80 .4 9 6 - -
80-100 Y 7 3 1 10
| | OR
Q:1 a) Give illustration of positive and negative correlation and show them on scatter diagram. 07
b) The ranksin Gujarati and Hindi of 10 students are given in brackets. Find the rank 07
correlation coefficient. -
(8,3),(1,5),(6,2),(3,9),(2, 10),(5,1),(4,6),(10,4),(9,7),(7,8) . _
Q:2 a} Explain : Linear Régressioh; Regression lines. Why are there two regression lines? 07
b)  Find the equations of regression line of y on x from the following data 07
X |25 [28 30 [32 |35 36 138 |39 |42 45
Y 20 26 29 30 25 18 | 26 35 35 46
; . OR
Q:2 a) Define regression?coefﬁ‘cients and state their properties. 07
b} The following data are obtained from 25 pairs. 07
3x=125, 2y=100, Ix*= 650, Zy?=460, Ixy = 508. .
Subsequently it Was found that two pairs of observations (8,12) and (6,8) were
wrongly taken as (6,14) and (8,6). Find the equations regression lines; after
necessary corrections. - _ '
Q:3 a)  Write a short note on'Yule’s method of finding association. 07
b)  The following information is obtained from two samples drawn from two different 07

cities: find co-efficient of Association between Literacy and Economic bekwardness.



Q:3 a)
b)

Q:4 a)

b}

Q:4 a)
b)

Q:5 a)

b)

Q:5 a)
b)

And compare Et.j

:City y

particulars | : City x

Total number of persons 1000 | 1200
Literates = 600 . [.800
Economically backward persons 700 . [ 700
Economically backward persons but Literates 400 | 400

Discuss different types of association.

For the following information find the missing frequencies and examine the nature

OR

of association b(lé-twee*n;(l)A &B{2)a &B.

(AB)=180 (aB)=160 . (A)=300
“Index Number is|a barometer of economic changes.”

of uses of index number.

From the followin"g data find index numbers of L
and Edgeworth and Dorbish and Bowley.

N=540

Discuss this statement in the context

aspeyer’s, paasches, Fisher’s, Marshall

What is the cost ck living index number? Wh
The Prices of 5 itdms are increased by 100%,
as compared to b#se year, Their relative im

Find price index number.

What is Time seritjas

¢ Explain the utility of Time series.
Obtain a straight line trénd equation b

y the method of least squares:

Commodities | Base Year Current Year
: Price Quantity Price Quantity
A .6 10 9 10
B ! 15 15 10 14
C 10 12 8 10
D 9 10 12 12
E | 8 8 12 7
OR

at does it measure? How is it prepared?
200%, 300%, 400% and 500% in a current year
portance are in proportion of 5:4:3:2: 1. _

Year 1990 1992 1993 1994 1995 1996 1999
Value 140 | 144 160 152 168 176 180
Find the trend value of the year.1991 and 1998 o
; ‘ OR
What is trend? Ex:plain the method of moving average for measuring the trend.
Time series data of prices are given below. Find Seasonal Indices.
Year Qu Q. Qs Q,
1966 46 44 50 45
1967 - 48 58 60 50
1968 © B2 66 56 60 -
1969 ' 66 80 75 70
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